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FN: AENSER NGHEH
e ZOHAAL &X
Sl SAANERYURE EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONArE 7Y 400,000& = 54 2,000
OMNAE B 70,000& = 54 350
02 =224l 100,450 105,548 A5,098
O3s+ HIIANE |FX2L 24,000
Ozs+ &= 2,000,000& = 12& 24,000
O3+ HIIANE |X2el 37,508
OZHAIAE X 2elbl
202,927,130& * 6% 12,176
OgdEIl X2l 1,000,000& = 1CH 1,000
OCCTV & Xl &2ldl 300,000& « 34CH 10,200
O=2dg w2yl 76,000& * 107CH 8,132
OXZ¥Es A2l 3,000& = 2,000 6,000
O3+ NEssi2el 33,942
Od ==Xl 2,881&  468m’ 1,349
O&JIANEE sFX&eltl
209,871,870& * 6% 12,593
OoZgetdaH 20,000,000& 20,000
O3+ W A 5,000,000& 5,000
202 Odl 3,600 6,000 A 2,400
01 = LH 4 HI 3,600 6,000 A2,400
OAN&Ls2el FRFI0oH
20,0008 = 5 « 3¢ » 12& 3,600
ANOZRSIHEZNEI| XS 17,201,866 19,149,742 A 1,947,876
Xl 2,985,000
= 3,300,000
< 100,000
Al 10,816,866
ANQIESHE T 23 FH| 7,542,089 3,434,226 4,107,863
Xl 1,080,000
= 600,000
Al 5,862,089
WSHTEAILE X £ DAHAY 713,300 1,203,960 A 490,660
401 AIEHI L 2 CHYI 713,300 1,203,960 A 490,660
01 A& HI 709,700 1,200,000 A 490,300
ORSAEAEES RIE+(1328)
500,000, 000& 500,000
O LS = ALY
200,000,000& * 14| 200,000
O ¢S ALY AANEHES
200,000,000 * 4.85% 9,700
03 Al S HHI 3,600 3,960 A 360
OuSAUHTAIESEX AEL2UHI
500,000,000& * 0.72% 3,600
X}l & A 1,807,080 1,829,480 £~22,400




SN ALDERS KAWL
M ARG EEZWSIIBES
Sl MRS T2E I CERED
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
201 ¢er24| 600 23,000 A 22,400
01 At 22l 600 23,000 A 22,400
O&ZAZ=218 AdlolE(EST)
600,000& = 14 600
401 Al HI K 201 I 1,806,480 1,806,480 0
01 A& Hl 1,800,000 1,800,000 0
OFLEX)ZHETZ HHdEM(362 =, L=
1,894.4km) 1,400,000, 000& 1,400,000
OXHTM 2IgEX(47E, EM EIAS)
100,000,000& * 400+ 400,000
03 AIE 2 THHI 6,480 6,480 0
OXE =AY AlE 2T
1,800,000,000& =* 0.36% 6,480
WEMD 2 HLAY 85,360 114,000 A 28,640
Xl 40,000
Al 45,360
401 AIEHIZL 2CHEI 85,360 114,000 A 28,640
Xl 40,000
Al 45,360
01 A& Bl 84,800 113,180 A 28,380
ORSAD &2 2 HEAS (OHE StLEE A
Hel 8) 80,000,000& 80,000
X 40,000
Al 40,000
OUWEMD 2 2 HLAMY(IHBSHLE A AN
2l) AAIE A 80,000,000& * 6.00% 4,800
03 Al 2 THHI 560 820 A 260
OWEALD &S R MAAE A0
80,000,000& * 0.7% 560
2 HEAY 2,685,380 210,380 2,475,000
Xl 900,000
= 600,000
Al 1,185,380
401 AIEHI L 2CHEI 2,685,380 210,380 2,475,000
Xl 900,000
= 600,000
Al 1,185,380
01 A& HI 2,679,620 208,940 2,470,680
OdAS2 o= & XA (L=1,300m)
600,000,000& 600,000
= 600,000
O3Scl UZEXAY BUEX 24H S
200,000,000 200,000
O Eel UZTHEXAY HALHES
600,000,000& * 3.55% 21,300




AENSEF NG
AMBIZISIEEZ2NEI|IBE Y
AR SE T2E3 | (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OBHEBHAMNLANG (SEU S22 2at0=H
=4) 1,800,000, 000& 1,800,000
Xl 900,000
Al 900,000
OR#MEH MEAL(S=USE 2ato=AHa)
AANEHES 1,800,000,000& =* 3.24% 58,320
03 AlE 2 THHI 5,760 1,440 4,320
OFHEE HLHAY AL R0
1,800,000,000& * 0.32% 5,760
E2J|s RA2c 378,909 66,294 312,615
201 £B-2dH| 2,764 2,764 0
01 At 22/l 1,764 1,764 0
OUEXSAI} NnERLEES
2,627m « 3503 * 1.66H = * 50% 764
OHMEtXE 233101 IAANA g0l
2,000& = 58 = 100& 1,000
02 =224l 1,000 1,000 0
OWMEXZE SHEFE RNEI(FSII)
1,000,000& = 1CH 1,000
305 &= S 10,000 10,000 0
01 Hia=s 10,000 10,000 0
OWSHEAIL At HHa =3
500,000& = 203l 10,000
401 AIEHI L 201 366,145 53,530 312,615
01 A& Hl 366, 145 52,990 313,155
o=sgeclst Xtz FHIAZE 50,000, 000& 50,000
O=&eclst HAZTHHIAMY AANEHEY
50,000,000& * 6.49% 3,245
OS0lRXZ2M LA 300,000, 000& 300,000
OS0lWXZHLAY HAILHEH
300,000,000 = 4.3% 12,900
SE2AE |X 2 5,160 2,580 2,580
201 et 5,160 2,580 2,580
02 2324l 5,160 2,580 2,580
ORotts W=EJtMet HIIRsS
15,000& * 1A = 1J] = 128 180
ORotts W=EJthet SMRsS
200,000& = 10HA = 10| = 128 2,400
OMaleIe 228 HOAML(RSUSHSE
HHED & SUe3 430,000& » 6& 2,580
SIMWIZ N AL 304,900 0 304,900
Xl 140,000
Al 164,900
401 Al HIZ 201 8] 304,900 0 304,900




FN: AENSER NGHEH
M ARG EEZWSIIBES
Sl MRS T2E I CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 140,000
Al 164,900
01 A& HI 302,940 0 302,940
OUSEZEHel BIXZONEAY B8 XZA & DI
=28HEA 600,000,000& * 1.77% 10,620
OA7ARL 3dUAZE XA (HESHS WS
At21el) 280,000, 000& 280,000
Xl 140,000
Al 140,000
OA7L 3dUXNZE XA (HESHS WS
AAHE) AAEHESY 280,000,000 = 4.4% 12,320
03 A& SR THHI 1,960 0 1,960
OAAR 3EUXZ EXAY ALY
280,000,000& * 0.7% 1,960
NSHEEZ X SSHALS 1,562,000 0 1,562,000
403 UtXISHHSA=0l& 1,562,000 0 1,562,000
02 S 2S0CHE A =& CHE At H 1,562,000 0 1,562,000
O™ &2 XIS3HAL Hl (L=1.25km)
1,562,000, 000& 1,562,000
SMNESIIetEd 2,080,501 1,623, 366 457,135
Xl 65,000
< 100,000
Al 1,915,501
NGEHAE FX 2 A 365,229 329, 168 36,061
206 M= Hl 10,000 0 10,000
01 M= 4l 10,000 0 10,000
OX&EIN BII1F=LI| & 4Ax1&H 7
200,000& = 503l 10,000
401 AIEHI L 2 CHEI 353,229 327,168 26,061
01 A& Hl 348,000 324,000 24,000
OXNEAN M2 KA 200,000, 000& 200,000
OXNEANET=EH EAD| 50,000, 000& 50,000
OXNEANZB2UEX 600,000 *» 20X 12,000
OXNEN WSAHMHEXE FHI
200,000& * 1000H £ 20,000
ONTNFTETZ EXY Hul
100,000& * 1007H £ 10,000
OXNENE=Z ZAZ &AX
2,000,000& * 3002 6,000
OX&EN & &X 5,000,000 * 1090 2 50,000
03 Al S THHI 5,229 3,168 2,061
ONEAHAIE SAZelALY AIE RO
830,000,000& * 0.63% 5,229
405 TtabF S| 2,000 2,000 0




FN: AENSER NGHEH
M ARG EEZWSIIBES
©el: SMNE)IgEY (chel: &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 et ESFH S 2,000 2,000 0
ORE NENUHHEA THEAN WH 2L
200,000& = 10CH 2,000
00l 25729 HE ALY 137,215 292,000 A 154,785
X 65,000
Al 72,215
401 Al HI K 201 I 137,215 292,000 A 154,785
Xl 65,000
Al 72,215
01 A& HI 136,305 289,900 A 153,595
ONeloIBEEa Y MEAE (LB UE S)
130,000, 000& 130,000
X 65,000
Al 65,000
ONEBOIESRAMNLANG (LELE S) AAl
H2HEA 130,000,000& * 4.85% 6,305
03 Al 2 THHI 910 2,100 A1,190
ONBI0IEBEa7RY ALY AlE 208
130,000,000& * 0.70% 910
AdEus el 17,400 19,270 A 1,870
201 £B-2dH| 6,400 10,270 A 3,870
01 At 22l 6,400 10,270 A 3,870
OALDERS A2 N S0
10,0003 = 80% = 8=l 6,400
203 ¥ =&l 11,000 9,000 2,000
03 AIHF=XH S =AH| 11,000 9,000 2,000
ooty e =& 6,000,000& 6,000
oOAs AL 2@ QML = 5,000,000& 5,000
AHNOIE SHSALS 708,104 641,928 66,176
201 et 10,000 16,100 A6,100
01 At 22l 10,000 16,100 A6,100
OXEN0IE EE IS8 MH
1,500& = 2,0000H 3,000
O NEAH WSHHWNE ZA=H
70,000& = 1003l 7,000
206 M= Hl 2,800 14,400 211,600
01 MHZ 4l 2,800 14,400 211,600
OXNEN Z0IS BAFAEI M
2,000& = 1,0000H 2,000
OXENHNMFH (HNESH S A EH|)
40,0003 = 204 800
307 glz2+ol & 16,000 16,000 0
05 RIZt2IE = 16,000 0 16,000




FN: AENSER NGHEH
M ARG EEZWSIIBES
el SMDE)IBEY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ONENHOE & PRUAEE 29
16,000, 000& 16,000
401 Al HIZ 201 I 679,304 595,428 83,876
01 A& HI 677,000 592,000 85,000
OXRENEZ HER2E A
200,000,000& * 14 200,000
OXNENEZ FHHl AAl £
20,000,000& =« 14 20,000
OXNAEHE=Z HHl(L=60km)
4,000,000& = 60km 240,000
OotdzteldEH & NAAeldEH AAIEAS
== 17,000, 000& 17,000
OFYZ NAAHAZZ E= A (L=500m)
150,000, 000& 150,000
OMYGZ=Z2ctX =8 UNAHETZ BEAD(L=2
00m) 50,000,000& 50,000
03 Al 2 THHI 2,304 3,428 N1,124
OXNEANE=Z FHHI 640,000,000& * 0.36% 2,304
NAAL LA E LS 2HAY 1,000 1,000 0
203 YR =&t 1,000 1,000 0
03 A F=XH S =AY 1,000 1,000 0
OXgHey JL2F& 1,000,000 1,000
&N 0l 243 Ar(&HI) 330,000 340,000 A 10,000
< 100,000
Al 230,000
401 AIEHI L 20 330,000 340,000 A 10,000
< 100,000
Al 230,000
01 A& HI 327,640 337,600 A 9,960
OINBEXEAT Z Ul AL (L=450m)
148,928,000 148,928
= 45,000
Al 103,928
ONYEXNMANE S S 2 F I AL (L=600m)
178,712,000& 178,712
= 55,000
Al 123,712
03 Al =2 THHI 2,360 2,400 A40
OXNEANEZ2HUIALE A&R0HYI
327,640,000& * 0.72% 2,360
2NN ALY 125,103 0 125,103
401 AIEHI L 2 CHYI 125,103 0 125,103
01 A& HI 120,135 0 120,135
OAMAIEHEL (L=2.6km) 67,135,000& * 14 67,135
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X ZH -
L= B

el

SN SAGEA) - MRALY - BES 0l &k o4 il Hl D&
OMETHH HESHHEE A (L=2.6km)
28,000,000 * 14l 28,000
OAR2 SIS EINE A (L=2.6km)
25,000,000 * 14l 25,000
03 A& R THHI 4,968 0 4,968
ONMENEZ FHHI 1,380,000,000& =* 0.36% 4,968
INEBENGHENE N2 FZHIALY 396,450 0 396,450
401 Al HIZ 201 8] 396,450 0 396,450
01 A& HI 387,000 0 387,000
O& A& A &9 (L=8.64km)
300,000,000& = 14 300,000
OMABTN L&A EZA(L=8.64km)
45,000,000 * 14l 45,000
OAME SFASHI X (L=8.64km)
42,000,000 = 14l 42,000
03 Al =TI 9,450 0 9,450
ONENEZ FHl AR
3,500,000,000& * 0.27% 9,450
s& £22 == 7,579,276 14,092, 150 26,512,874
Xl 1,840,000
£ 2,700,000
Al 3,039,276
Aot~ G2t EREHZH I A 905,670 0 905,670
£ 900,000
Al 5,670
401 Al HIZ 201 Y] 905,670 0 905,670
= 900,000
Al 5,670
01 A& HI 900,000 0 900,000
Ogdt~d 2t =2 SHEE ZAH(L=2.22km)
900,000, 000& 900,000
£ 900,000
03 A& S THHI 5,670 0 5,670
OZol~d &2t =2 X ZA AR
00,000,000& = 0.63% 5,670
D242 UEEXSA 221,584 0 221,584
401 Al HIZ 201 I 221,584 0 221,584
01 A& HI 220,000 0 220,000
Ona4el A=A 3 AH(L=0.85km)
220,000, 000& 220,000
03 A& 2 THHI 1,584 0 1,584
O124el ASHIS AL Al 2L
220,000,000& * 0.72% 1,584
ANE~2&2t ZE SIS A 201,440 0 201,440




FN: AENSER NGHEH
M ARG EEZWSIIBES
©el: SE S2Y 23 CERED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
TAIEHI &R 201,440 0 201,440
01 A& HI 200,000 0 200,000
OANS~&E2t Z SIS B AH(L=0.72km)
200,000, 000& 200,000
03 AIE 2 THHI 1,440 0 1,440
OAN=~2Ad22 ZEHSE NS A AIER20UHI
200,000,000& * 0.72% 1,440
N=~SEH2A T2 T I A 503,600 0 503,600
= 400,000
Al 103,600
TAIEHI &R0 503,600 0 503,600
= 400,000
Al 103,600
01 A& HI 500,000 0 500,000
OANS~ZH2 T 2& X F S AH(L=0.73km)
500,000,000 500,000
= 400,000
Al 100,000
03 Al 2 THHI 3,600 0 3,600
OANZS~ZH2 T2 I IA AR
500,000,000& * 0.72% 3,600
Qi~E S EZ2E LTI A 503,600 0 503,600
= 500,000
Al 3,600
401 Al HI X 201 503,600 0 503,600
= 500,000
Al 3,600
01 A& HI 500,000 0 500,000
OLA~ES2H T2 ELEY B AHL=0.3km)
500,000,000 500,000
= 500,000
03 A& 2 THHI 3,600 0 3,600
OM~TS2 T2EHIEY Z A AIER2UYI
500,000,000& * 0.72% 3,600
SHAHI~XI A2 S 2O A S At 151,080 0 151,080
401 AIEHIZ 28I 151,080 0 151,080
1T AIZHI 150,000 0 150,000
OBHH~XI & 2F & 2 & &M B3 AH(L=2.5km)
150,000, 000& 150,000
03 Al 20 HI 1,080 0 1,080
OStAH~RI &2 E 2T EHIA AIE R0
150,000,000& * 0.72% 1,080
HE~2H2t T2 E I T A 151,080 0 151,080
401 AIEHI L 20 151,080 0 151,080




SN ALDERS KAWL
M ARG EEZWSIIBES
©el: SE S2Y 23 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 151,080 0 151,080
oH~2AN T2 L E ZAH(L=1.24km)
150,000, 000& 150,000
OUZL~RAH2 T2 TE ZA AIER0UHI
150,000,000& * 0.72% 1,080
ATiel~d 222t E2 LTS At 805,040 0 805,040
= 400,000
Al 405,040
401 A& HIZ 201 I 805,040 0 805,040
= 400,000
Al 405,040
01 A& HI 800,000 0 800,000
OdMi12l~d 222t S2& L E B AH(L=1.17km)
800,000,000 800,000
= 400,000
Al 400,000
03 Al 2 THHI 5,040 0 5,040
OSTHIEI~dT2el2t T2HEIHE AL AIER
i 800,000,000& * 0.63% 5,040
LY~ H0| 2 E2EE TS AL 503,600 0 503,600
= 500,000
Al 3,600
401 Al HI K 201 I 503,600 0 503,600
= 500,000
Al 3,600
01 A& HI 500,000 0 500,000
ORL~A0I2t T2 L E B AH(L=1.57km)
500,000,000 500,000
= 500,000
03 AIE 2 THHI 3,600 0 3,600
OFE~ It T2 ZHIAL AIE R0
500,000,000& * 0.72% 3,600
SHAEZ BT T AL 120,864 201,440 A 80,576
401 AIEHI L 2CHEI 120,864 201,440 A 80,576
01 A& Hl 120,000 200,000 80,000
ORQE stdE=Z FHILEZAH(L=1.5km)
120,000, 000& 120,000
03 Al 2 0HHI 864 1,440 A576
OE stttz EZHI AL AIERUHI
120,000,000& * 0.72% 864
M St-AOI2E 2 S A S AL 302,160 503,600 A 201,440
401 AIEHI L 20 302,160 503,600 A 201,440
01 A& HI 300,000 500,000 200,000
OXSt~ALCI2E S 2 E I M B AH(L=1.7km)
300,000, 000& 300,000

_10_




FN: AENSER NGHEH
M ARG EEZWSIIBES
SYl: SE CRY HE (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
03 AIE 2 0HHI 2,160 3,600 N 1,440
OXS~ALRI2E S22 T H I A AIE R HI
300,000,000& * 0.72% 2,160
SE~FHUN T2 LT ZA 664,158 0 664, 158
ANEHI &2 664,158 0 664, 158
01 A& Hl 660,000 0 660,000
OSH~FTH2 T2 I EZA(L=1.0km)
660,000,000 660,000
03 AlE 2 THHI 4,158 0 4,158
OSE~Z=Z2 T2 I IA AIERUHI
660,000,000& * 0.63% 4,158
g0 REEAXETZ SELTZA 100,900 0 100,900
401 AIEHI L 20 100,900 0 100,900
1T AIZHI 100,000 0 100,000
Odo0l 2EAMTZ SHEEBAHL=0.4km)
100,000, 000& 100,000
03 Al =20 HI 900 0 900
OE0l R2EAZTZ SHIEIT I AL AIE20HYI
100,000,000& * 0.90% 900
SE-2EN T2 ELFIA 201,440 0 201,440
401 AIEHI L 201 201,440 0 201,440
01 A& HI 200,000 0 200,000
O3&E~2&2t T2 E Z AL 200,000,000 200,000
03 AIE 2 THHI 1,440 0 1,440
O=E~-282 T2 ZE Z A AIE 20U
200,000,000& * 0.72% 1,440
20| HotE2 SZHIA 100,900 0 100,900
401 Al HIRK 201 I 100,900 0 100,900
01 A& HI 100,000 0 100,000
OS0| Yot=2 &L &S AHL=0.4km)
100,000, 000& 100,000
03 Al 2 THHI 900 0 900
O=0| Hot=2 HZE I AL AIE20HI
100,000,000& * 0.90% 900
SMFAHA SHOIIHAIC X 1,840,000 1,000,000 840,000
Xl 1,840,000
403 A X EHHS 20l A 1,840,000 1,000,000 840,000
Xl 1,840,000
02 S| 2SOl CHSHAt 2 X CH & AF I 1,840,000 1,000,000 840,000
O=24&FHA SHOIIHA ICAX
1,840,000, 000& 1,840,000
Xl 1,840,000




2N

dNEER =
PRSI DRSECT2Z2WED]

ool 5E T2y =5 e )
MY . B (3H) - NEAY - BAS ofl &t o SSa HDE2
S-MH Z2EHE 2 Ak 302, 160 302, 160
401 Al HI L 20 HI 302, 160 302, 160
01 Al& H| 300,000 300,000

O Z-AH2t S I 2 AF(L=0. 18km,B=8.
om) 300,000, 000& 300,000
03 A& 20HH| 2,160 2,160
OXES-AHZ2 ZEHEINE S A AIE 20U HI
300,000,000& * 0.72% 2,160
HESAAL (HENEEE Hetnh) 410,611 339,071
Jl2& bl 93,855 22,315
Jl 2 AH| 93,855 22,315
201 YEr2 Y| 54,115 35,595
01 At 22l ] 31,272 12,752
OJ2gRs-dE 10,500,000& 10,500
OJI=dH (S 10,584,000 10,584
OXYH QzEt T2 42
100,000& = 6& 600
O2IWEEX HdAFR=sZ 30,000& * 12& 360
oEMaTZZ 3 KA 24 130,000& * 12& 1,560
OS2 ADBAIZ (DFinder) & Xl &2 £=H|
17,820,000 * 10% 1,782
O+=4Z(Let&E, 24/Z) 100,000 = 103 1,000
O=222 Xl =z
300,000& = 2JHAF * 23] 1,200
OXNENE HES 222 1,936
O&A 660,000 * 28rA 1,320
[@I== 154,000& * 4N E 616
OHtdae™H 50,000& = 5% 250
oOoMEE2EEE 50,000& * 30 1,500
02 3524t 22,843 22,843
o=gxg 2e 22,843
Oxrs2el 8 2,000
-S8X UE 550,000 = 1CH 550
-2 & 400,000 = 2CH 800
-SIE2X A 650,000 = 1CH 650
OAHEsSAN=L2 (S5, 32)
27,000& * 404 * 23] 216
OtAFUAAN(SE ,312) 51,000& * 404 204
(OF=MF=1PNE= SAMEEEHZ2) 1,400
-S2x O 600,000& * 1CH 600
-SE2X 3 300,000& = 2CH 600
-t A 200,000& * 1CH 200
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PN AENSER S2AEH
Ha: OTA Y ASHO JFEE TRISY 7S
Sl ERUM PACRY XI| 7E (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AENsSER TZ2AEN 36,354,943 35,819,990 534,953
= 8,371,000
Xl 3,088,000
Al 24,895,943
AT Al U HSHQ HNE S2usY 25 35,148,864 35,354,018 A 205,154
= 8,371,000
Xl 3,088,000
Al 23,689,864
FRAE BIEZY )| AH 23,604,608 22,573,225 1,031,383
= 8,371,000
Al 15,233,608
B (gg-28)2cUHHRIE=2HE 8,371,000 13,591,000 25,220,000
= 8,371,000
401 AIEHI L 2 CHYI 8,371,000 13,591,000 25,220,000
= 8,371,000
01 A& HI 8,371,000 12,924,000 A 4,553,000
O=EUNREZ ALEAY 8,371,000
O§&~2 = (L=13.33km,B=20m)
8,371,000, 000& 8,371,000
= 8,371,000
PUSHNZE T ALY 802,880 1,006,300 A 203,420
401 Al HI K 201 I 802,880 1,006,300 A 203,420
01 A& Bl 800,000 1,000,000 A 200,000
ORMNSZ2(FLU~ZEUL)EE S AH(L=0.64k
m, B=25m—30m) 800,000,000& * 14 800,000
03 Al 2 THHI 2,880 6,300 A 3,420
ORLUSZ2(HEU-IEUW)ET A AIER
CHHI 800,000,000& * 0.36% 2,880
ZNMEXRNPR~-AI2DIZE TS24 2,007,200 2,007,200 0
401 AIEHI L 2] 2,007,200 2,007,200 0
01 A& Hl 2,000,000 2,000,000 0
OLMNEXXNPR~AHAz3 02 T2 IFH (L=1.99Km
, B=22m~30m) 3 At 2,000,000,000& * 14 2,000,000
03 A2 2 THHI 7,200 7,200 0
OLZNEXXNZ~AZWIZE TZ2IHE AER
=]l 2,000,000,000& =* 0.36% 7,200
Hezet2(MEFN~SEUILZ)HE S A 2,006,480 3,531,325 A 1,524,845
401 AIEHI L 2 CHYI 2,006,480 3,531,325 A 1,524,845
01 A& HI 1,800,000 3,083,000 A 1,283,000
OH2&eSZ2 (MEFU~EZUIUR) HESAL=
1.88km, B=35m) 1,800,000,000& * 14 1,800,000
02 2eltl 200,000 440,000 240,000




2N
X ZH -
L= B
el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMzze2(ME=LU~EZFWXZ) HESA A
S 2eldl 200,000, 000& 200,000
03 Al 2 THHI 6,480 8,325 N 1,845
OMzzeZ2(ME=U~EZFWXZ)HNE S AL Al
A S0l 1,800,000,000& * 0.36% 6,480
FF(HU-SH)2 UM =2AH4E 1,200,000 0 1,200,000
401 Al HI K 201 I 1,200,000 0 1,200,000
01 A& HI 1,200,000 0 1,200,000
OHPI~20 AEAY Moo HaD
1,200,000, 000& 1,200,000
Hezst2(SZUXUZ~SSUXZ) SESA 881,388 0 881,388
401 AIEHIZL 20 881,388 0 881,388
01 A& Hl 875,870 0 875,870
OR2zgz EXESA AAEHSA(L=3.06kn,
B=25m—35m) 875,870,000 875,870
03 A2 2 THHI 5,518 0 5,518
OM2z=&=2 HEISA AIERUHI
875,870,000& * 0.63% 5,518
FF(2g-HY) =2cUNRIE=HE 2,900,000 0 2,900,000
401 AIEHI L 20 2,900,000 0 2,900,000
01 A& HI 2,900,000 0 2,900,000
O=S Y~ (L=13.08km, B=20m) £ A&tHl
2,900,000, 000& 2,900,000
SAIANHC~EHISHHE ST2IHE A 120,000 0 120,000
308 XXM SOl A 120,000 0 120,000
10 BN 2SUHUSBAEH A 120,000 0 120,000
OAIANC~E=SLHE T2HE B E A
== 120,000, 000& 120,000
Ad2(UHLEAHe~HFUAMAH)EH 5,013,500 0 5,013,500
401 Al HIZ 201 Y] 5,013,500 0 5,013,500
01 A& HI 5,000,000 0 5,000,000
oad=z &FIZAH(L=0.31km, B=25m—35m)
5,000,000,000& * 14l 5,000,000
03 Al 2 THHI 13,500 0 13,500
odgz EHESAL AIZ20HHI
5,000,000,000& * 0.27% 13,500
HAZ2(ESLAMHCI~M2z==2 )8 & 302,160 0 302, 160
TAIEHI &R 302,160 0 302, 160
01 A& HI 300,000 0 300,000
Ot 2 & & T AH(L=1.0km, B=25m—35m)&l Al &
HE Sl 300,000,000& * 14 300,000




2N
X ZH -
L= B

el

AMDERE C2ALD
FATA THH ASHQ OIFE TRNSY PE
ZQUM BATRY FI| 25

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
03 Al&E 201 Y| 2,160 0 2,160
oAz SEZ AL AIZ20HHI
300,000,000 % 0.72% 2,160
CANE 24K Y M EZ Al 2E 5,504,773 10,583,973 N5,079,200
Xl 800,000
Al 4,704,773
2UANY JHAEX B4 1,111,470 1,107,372 4,098
201 et | 3,342 3,342 0
01 A2t 2| H| 3,342 3,342 0
oBAMATZZ O SAE 4| 130,000& = 12& 1,560
O L2 ADBAIZ (DFinder) & Xl 2 24=H|
17,820,000 = 10% 1,782
401 AlEHIZL £ 0HY| 1,108,128 1,104,030 4,098
01 Al&H| 1,104,240 1,104,030 210
©JlHAZ X SAH(12m0] &)
45,000,0008 » 24& X| 1,080,000
OMAMAH BsS =42 24,240
OREEY =5 358,0008 » 302 X 10,740
OLHEI =48
200,000€ = 30= Xl = 2J420| & 12,000
Osis"e =42 50,0008 ~ 30Z X 1,500
03 AlE 2 HH] 3,888 0 3,888
OZ2AAMY IS K 24 AIE20H|
1,080,000,000& * 0.36% 3,888
HED~MEZEDANZ CRERAY 503,600 2,013,845 1,510,245
401 AlEHIZL 2 0HY| 503,600 2,013,845 AN 1,510,245
01 Al& H| 500,000 2,006,645 A 1,506,645
OYMD~MEEZWAIHE EZ2 & &2 AH(L=0.43k
m, B=25m) 500,000, 000& 500,000
03 Al 20| 3,600 7,200 A 3,600
OYdN~MEEZSSDAIAHZ E2=E AIS
A& L] 500,000,000 = 0.72% 3,600
C2I|/H ASMHA &) 23,548 25,797 AN2,249
101 2121 H] 11,314 10,797 517
04 JI2ZtHIZ22NEE S 11,314 10,797 517
OBMXIE BRERA B 11,314
OB AXNE BRE =48 o822
48,2803 * 18 » 262 x 8& 10,043
O=201d32 232 10,043,000 * 4.5% 452
onEgsEs 23 10,043,000 * 1.5% 151
ONATHOY 282 10,043,000 * 1.42% 143
O=Z0AHA2AESEE B2
10,043,000 * 3.035% 305
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PN AENSER S2AEH
Ha: OTA Y ASHO JFEE TRISY 7S
Chel: CATDE 2AX2 L HHCA PH EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEPEEEEEC R
305,000& = 6.55% 20
OZFEFItHI 200,000& * 1¥ = 13 200
201 et 12,234 15,000 A2,766
01 At 22l 12,234 15,000 A2,766
OAI R &R D] 12,234
ONSTE SIIEE 242
300,000& = 302 X 9,000
ONSMARI AHE 22
50,000& = 202 X 1,000
OANSMARI ASHE AKX
200,000& = 102 X 2,000
OANSMARD IEE 2EFY
1,930& = 302 Xl * 33 174
OsJigfseE ¢ 1,200& = 502 X 60
EHIC~NESOIE RAETZE MHE SA 1,405,040 1,015,160 389,880
Xl 800,000
Al 605,040
401 Al HIZ 201 Y] 1,405,040 1,015,160 389,880
X 800,000
Al 605,040
01 A& HI 1,400,000 1,008,860 391,140
OEHI2~NEOIE 2352 HEIA(L=2.5
km, B=20m) 1,400,000, 000& 1,400,000
Xl 800,000
Al 600,000
03 Al S THHI 5,040 6,300 A 1,260
OEHICI~MEOIE RAETZ HESA A&
Lol 1,400,000,000& * 0.36% 5,040
IEUSAYE-D2a4 N SRATE B A 463,312 200,000 263,312
401 Al HIZ 201 I 463,312 200,000 263,312
01 A& HI 460,000 200,000 260,000
OMNE=Z(oISU2ALE~D28NHeld) =&
I & 2 AH(L=4.2km,B=20m) 460,000,000 * 14! 460,000
03 Al R THHI 3,312 0 3,312
oMz (otSURALE~D2NHed) =&
Z3AL AIE 2RI 460,000,000& * 0.72% 3,312
8BS SAANEESZ2(EXNE F=H) HE A 530,600 94,500 436, 100
401 Al HI L 2 O 530,600 94,500 436, 100
01 A& HI 527,000 94,500 432,500
OLlEE EXNZE T2MESA HYEXEH
500,000,000& * 14 500,000
OMLUHARHS =2 27,000




PN AENSER S2AEH
Ha: OTA Y ASHO JFEE TRISY 7S
Chel: CATDE 2AX2 L HHCA PH EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEE=F=PIE=-]
200,000& = 60Z Xl = 2)4D| 2 24,000
OSJIIEE xR 50,000& = 60 X 3,000
03 Al S THHI 3,600 0 3,600
OnNEs X2 T2 SAF A2
500,000,000& * 0.72% 3,600
L2 SURE =8 T2FH| 596,417 0 596,417
401 Al HIZ 201 8] 596,417 0 596,417
01 A& HI 592,700 0 592,700
oadgd 85 43 WXZ NS AH(L 2 M
&14]) 190,000,000& * 14 190,000
O&Y P B 23 WE HESA HUYEX
g 400,000,000& * 14l 400,000
OMLA BHE =2 2,700
OLHEIN+22
200,000& = 6Z Xl = 24| 2 2,400
OsSJIEEsr2 50,000&  6E X 300
03 Al S THHI 3,717 0 3,717
oadgd B85 43 WXZ MEaSA AIERU
=l 590,000,000& * 0.63% 3,717
Aotnie g3 S22 I A 751,786 0 751,786
401 Al HIZ 201 Y| 751,786 0 751,786
01 A& HI 747,250 0 747,250
ONTNXZ 2 TE2EHIAIA HAEAHSA(
L=40m, B=15m 25,000,000& * 14 25,000
ONTNIZ LA T2EHTIAM
600,000,000& * 14 600,000
ONEWRZ LA TZEHISA HAEXE &
120,000,000& * 14 120,000
OMMH BHES =2 2,250
OLHEI+42
200,000& = 5ZXI = 24| = 2,000
OsSJIEE =2 50,000& = 5 X 250
03 AlE 2 THHI 4,536 0 4,536
ONEWRZ LA TZEHEI A AIER20UYI
720,000,000 * 0.63% 4,536
g9 sE2 T2HE 20,000 0 20,000
401 AIEHI L 2 CHEI 20,000 0 20,000
01 A& tl 20,000 0 20,000
oded a2 T2 AdALEHESI
20,000,000& = 14 20,000
O DIRel(&3-27) =24 80,000 0 80,000
401 AIEHI L 201 80,000 0 80,000




PN AENSER S2AEH
Ha: OTA Y ASHO JFEE TRISY 7S
Chel: CATDE 2AX2 L HHCA PH EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 80,000 0 80,000
O0I#H DIl (83-27) S2MH4 JIzs &1
SAH(17D1) 80,000,000& * 14 80,000
ds 2L INZE ST SAM 19,000 0 19,000
401 Al HI K 201 I 19,000 0 19,000
01 A& Hl 19,000 0 19,000
O=2ds ZELA IUZ HESA AAEHS
& (L=0.22km, B=7m) 19,000,000& * 14 19,000
E AME A2 3,512,283 100,095 3,412,188
M (=2)2e 12,283 12,595 A312
201 2et24d] 9,843 5,755 4,088
01 At 2teltl 9,843 5,755 4,088
O=RML 2Zels===2 9,175
OZAHEY =2 545,000& = 152 X 8,175
OsSJEE =8 50,000& = 202 X 1,000
OIFMEAIEE 2UDXNM M 668
O¥=F 150& = 3,0000H 450
OLIX M 72,6003 * 32fA 218
202 oddl 1,440 1,440 0
01 = LH o4 1l 1,440 1,440 0
O=RMat 2el AEefZA =AW
20,000& = 3H * 3 * 83 1,440
203 R =&t 1,000 0 1,000
03 AIMF=XH R =AY 1,000 0 1,000
OE2IME 2= 1,000,000 1,000
2 S ZelAIAE 22 155,000 87,500 67,500
201 et2 Y| 155,000 31,500 123,500
01 At 22t 35,000 0 35,000
OJNZEots ZHe|AlAE ARS AN d
(o] p= 35,000,000& * 14! 35,000
02 2324l 120,000 31,500 88,500
OJNZEets 2elAlags /X 22
120,000,000 * 14! 120,000
iz 2el 3,345,000 0 3,345,000
705 O~ 2 cl 34 3,345,000 0 3,345,000
o= 4E 3,000,000 0 3,000,000
O5Y-2S, I, 4YTA-FYR &
2 8ltz =34 3,000,000,000& 3,000,000
02 Ofl =3 Ol A+& & 345,000 0 345,000
Os2d~2s, E2~tY, 4E33~-2Y22 &
2L s8kt= 0l ktae 345,000, 000& 345,000




PN AENSER S2AEH
=] X

=R HHl SSXol otXE CRNSEY 23S
e SAN) sEXNYE HZ2E=2 4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SN} sEXNYE HZ2E2 4E 2,527,200 2,096,725 430,475
Xl 2,288,000
Al 239,200
HEA~ 242 T2 EHE B A} 2,527,200 1,486,300 1,040,900
Xl 2,288,000
Al 239,200
401 AlEHIZL 201 Y| 2,527,200 1,486,300 1,040,900
Xl 2,288,000
Al 239,200
01 Al&H| 2,000,000 1,000,000 1,000,000
OHFA-S M TREAZTAH(L=2.1Kn, B=B—2
5m) 2,000,000,000& = 14! 2,000,000
Xl 1,860,000
Al 140,000
02 2teld| 520,000 480,000 40,000
OHFA-S M CREAZTA oM AAL Y|
520,000,000& 520,000
Xl 428,000
Al 92,000
03 Al&E 201 Y| 7,200 6,300 900
OHFA-S M CREFTA AILROH|
2,000,000,000& % 0.36% 7,200
HHSHAY (HENEEE T2 AL) 39,344 43,972 N4 ,628
Jl2 &l 39,344 43,972 N4 ,628
Jl2AH| 39,344 43,972 N4 ,628
201 et | 16,064 16,912 A\ 848
01 AR 22l ] 16,064 16,912 A\ 848
OJl2g LA 8,000,000& 8,000
O3 &l 8,064,000& 8,064
202 044 17,280 18,360 A 1,080
01 2Ll 17,280 18,360 A 1,080
O =Wy 17,280,000 17,280
203 ¥ 2 =&XH| 4,200 7,200 A 3,000
04 FEASHEYFFEH| 4,200 4,200 0
OJl=Z&Z | 350,000 ~ 12€ 4,200
405 XHAHFE S HI 1,800 1,500 300
01 AL 2 EF S| 1,800 1,500 300
OAIRE X 2 300,000 * 6H 1,800
PSS (HEWEE2E T2 AL 1,166,735 422,000 744 735
BHEX= 1,166,735 0 1,166,735
Htst= J|E} 1,166,735 0 1,166,735

_20_
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A

20169 = S0l& LN ALNSE A of & 2 TH 1t
SN ALDERS DEFH
Hu: OMGID Hels WEBA AN
e HERSAE Hd (&)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
AENsE? nEsd¥ 1,211,140 3,912,647 A2,701,507
QMG Helst nsed AF 211,140 80,000 131,140
HESnsSAE e 211,140 0 211,140
SFSSEXDX AIENAE A 211,140 0 211,140
401 Al HIZ 2018 211,140 0 211,140
01 A& HI 209,700 0 209,700
O&HFAl St23IXLX AlEIHE A
200,000, 000& 200,000
OHEFAl SS3GXDX AIEMEAY AAA
A bl 200,000,000& * 4.85% 9,700
03 Al& =TI 1,440 0 1,440
OAIE 2 HHI 200,000,000& * 0.72% 1,440
HRegs(Hdneses nsd ) 1,000,000 3,832,647 A2,832,647
HEAHH K= 1,000,000 3,832,647 A2,832,647
HEHH X = 1,000,000 1,000,000 0
701 JIEtSI HEXTES 1,000,000 1,000,000 0
01 JIEtSIHE &S 1,000,000 1,000,000 0
OusSAY SEE3/H d&= 1,000,000,000& 1,000,000
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20169 = =0l ah LA HdENS=R NG ~ ALus=

M A&
X E: O
(=R B p—

S s

A

Off &t 24

dEE
Off & 24

= N H

69,

696,928
596,016

, 103,169
65,

997,743

67,943,370

1,753,558

= N H

69,

637,884
596,016

, 103,169
65,

938,699

67,902,766

1,735,118

= Hn A

69,

637,884
596,016

, 103,169
65,

938,699

67,902,766

1,735,118

ANUBA(SHE) 2SME HEXE

Al

,680,564

,340,282
,340,282

4,680,564

307 glztol &

Al

,680,564

,340,282
,340,282

4,680,564

o
«©
HO
1
1%
x
T
N
i

©
=
=
o
Q
1]

HASSAEMEXA

4,680,564,000&

= M

Ao S

DN

,680,564

,680,564

,340,282
,340,282

4,680,564

>
0z
=3
>
M
e
HT
FA

=z M H

, 192,032

596,016
298,008
298,008

1,207,896

N 15,864

402 It Xt=01 ™

=z N H

, 192,032

596,016
298,008
298,008

1,207,896

A 15,864

01 212t E ALY

99,336,000& = 1204

= 0 H

, 192,032
, 192,032

596,016
298,008
298,008

1,207,896

AN 15,864

, 749,000

5,749,000

, 749,000

5,749,000

100,000,000& = 1CH
5,649,000, 000&

, 749,000

100,000

,649,000

5,749,000

H

15,842
15,842

16,555

AT13

307 21201 A

2l

15,842
15,842

16,555

AT13
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FN: dENSER HsnsH
M os5UHELS
g2 snssd N (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 2HAHAEXS 15,842 16,555 AT13
OHBXLd =224 228H BEX3
15,842,000& 15,842
< 15,842
=JtHl & | 2= 1,800 900 900
201 £B-2dH| 1,800 0 1,800
01 At 22l 1,800 0 1,800
OHl AU ERF=A 1,800
OuUsSaAAMAE M2 120,000& » 15& 1,800
AQlol ot S 2[5 EHAl S (-Qel) 171,360 171,360 0
402 RI2FXt20l 171,360 171,360 0
01 2I2tt=2 AP 2 X 171,360 171,360 0
OAQIQHAMERAl & X2 (EHOIEHAl)
360,000& = 680CH * 70% 171,360
EHEEHAITY 199,332 677,712 A 478,380
307 21201 A 199,332 677,712 A 478,380
09 2+=HAHEBEXS 199,332 677,712 A 478,380
OBHEEA TXIE(AIRIS) 199,332,000& 199,332
ANUHHARS Sds =243 XA 5,400,000 6,806,757 A 1,406,757
307 21201 A 5,400,000 6,806,757 A 1,406,757
09 2HAHAEXS 5,400,000 6,806,757 A 1,406,757
OEZHAANUHALZTUS 24X
5,320,000, 000& 5,320,000
OTFEHAM AlUHHA RS =AEA
80,000,000& 80,000
AUEM BEHA X 28,941 76,235 ANAT 294
< 28,941
307 21201 A 28,941 76,235 ANAT 294
< 28,941
09 2+HAHEXS 28,941 76,235 NAT, 294
O2XN AN SEHA 7Y N
9,647,000& * 3CH 28,941
= 28,941
ANUHBHA REESEA 6,000,000 6,000,000 0
307 21201 A 6,000,000 6,000,000 0
09 2+=HAHEEXS 6,000,000 6,000,000 0
OANUHA fE28s5 2X2  6,000,000,000& 6,000,000
28 SHEES N 43,751,000 41,611,000 2,140,000
307 21201 A 43,751,000 41,611,000 2,140,000
09 2+HAHEBEXS 43,751,000 41,611,000 2,140,000
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FN: dENSER HsnsH
M os5UHELS
ool EDESH N CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2=+%H FREXS 43,751,000, 000& 43,751,000
BAIDIEZM =2 X& 774,055 590,127 183,928
< 184,216
Al 589,839
307 21201 A 774,055 590, 127 183,928
< 184,216
Al 589,839
09 2+=HAHEBEXS 774,055 590, 127 183,928
OEAINEZM =3 XA 614,055,000 614,055
< 184,216
Al 429,839
OAINCET =42 XA (BHA~12IHS)
160,000, 000& 160,000
Y& Y 018 sitE 88 127,680 127,680 0
201 Let24d] 20,160 20,160 0
01 At 2teltl 20,160 20,160 0
OJHQEAl 018 s&t= 210 MA
90,000& * 104CH 9,360
Ost=018 s&t=s 21 HA
90,000& * 120CH 10,800
307 21201 A 107,520 107,520 0
02 LAFAAFEX 107,520 107,520 0
OQIEHAIOE sttt 20s
40,000 = 104CH = 12& 49,920
Ost=2018 s&ts 212
40,0003 = 12000 = 12& 57,600
AU(SY)IHA 283 M4E 59 59,000 19,000 40,000
207 A RO 59,000 19,000 40,000
01 2339 59,000 19,000 40,000
OANUW(BE)HA 2E#HEAZ A4F 9
59,000,000& 59,000
SEHA 2 307,638 500,000 A 192,362
307 g1+l & 307,638 500,000 A 192,362
09 2HAHAEXS 307,638 500,000 A 192,362
O2dHA #Hl 102,546,000& * 34 307,638
ANZ0tS dSHA = 175,000 0 175,000
< 70,000
Al 105,000
301 et a =z 175,000 0 175,000
< 70,000
Al 105,000
MIEE4d3 175,000 0 175,000
OAZ=0tE d=8A &2 X 175,000,000 175,000
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EXN: dEnseE: snsil
MM OCEYPSWE
G tzsnsEsyd XN (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 70,000
Al 105,000
AMUWHA =SS MAH JHH 4,000 0 4,000
301 LBt A= 4,000 0 4,000
09 HAIAHI EAZ 4,000 0 4,000
O233 (AlSlIoAXH)
20,000& * 10¥ = 203 4,000
EHAl SEHAE 2AZIAAE 2E ALY 193,000 0 193,000
403 XX S M S K201 & 193,000 0 193,000
02 2| 2SOoHstX 22 & A HI 193,000 0 193,000
OBAl SHEHAEE UZIANAE D=
193,000, 000& 193,000
BHAl HADISEX AX ALY 497,640 0 497,640
=} 165,880
Al 331,760
402 SI2HXHE0| ™ 497,640 0 497,640
= 165,880
Al 331,760
01 A2t SAIE E =X 497,640 0 497,640
OEAl SMIIEHX EX K& 497,640,000 497,640
& 165,880
Al 331,760
HFEA HESULEHE =T 250,000 0 250,000
207 SO0 £ 250,000 0 250,000
01 4| 250,000 0 250,000
OUzZNENHE 8 HAREA 250,000, 000& 250,000
WEANDE0|D| HEO HOIHal AKX 60,000 0 60,000
307 2izto| A 60,000 0 60,000
04 QIZ2tSHAFALS B X 60,000 0 60,000
ONEAMIE0I HE0Zo0Us ¥ 2H2H
A nEIOHE sots i3 60,000,000 60,000
HHSHAY(HEDNEEE HSLUEDW) 59,044 40,604 18,440
Jl2H 4 (Leal A 59,044 40,604 18,440
Jl2dd| (et Al 59,044 40,604 18,440
201 et | 18,564 15,904 2,660
01 AP 2t 2| bl 18,564 15,904 2,660
OJl2gLssAd| 10,500,000 10,500
o2& (21=4Hl|) 8,064,000 8,064
202 044 17,280 16,200 1,080
01 2L Y| 17,280 16,200 1,080
O=2LHAHI(J1=FHI|) 17,280,000 17,280
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& AR E A A

20169 = =0 & L3N HdENS=F NGHLY ~ AL NS=F ot LM

SN ALDERS SGHEYHI
M UHL SMots etAE MAEGHA
& 32 S HWRE St s 2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AENSEF ot L 17,793,158 21,925,401 AN4,132,243
= 4,389,000
Xl 2,939,400
= 1,000,000
< 1,216,880
Al 8,247,878
A BHGl=e MG MABA 17,757,898 21,892,013 A4,134,115
= 4,389,000
Xl 2,939,400
= 1,000,000
< 1,216,880
Al 8,212,618
=zt 02 HRE ofd =X 2 3,127,086 3,150,745 A 23,659
= 75,000
Al 3,052,086
WEE &= St 2e| 2,264,583 2,459,324 A 194,741
201 et 475,304 900, 132 A 424,828
01 At 2teltl 273,660 692,462 A 418,802
ORME A015HA 2us)
45,0008 * 112 » 43 1,980
oXJIctE e HEx2 (2, &)
200,000 = 8 = 12& 19,200
MOl HIIZAHBIHA)
6,000,000& 6,000
20IFHBY 242
100,000 » 4044 « 12& 4,800
ORHAE RS> A2 (SG=250HEZA)
41,000,000& 41,000
ORHE FAUE=> BSUS (2T B AH)
80,000& » 25.15& * 90 181,080
o8==7 Ul dxz (A, €X)
500,000& * 20CH 10,000
Ooctd 2] XA E AN=EBSIENSES X
800,000&  12& 9,600
02 2324l 201,644 207,670 A6,026
OIS (=F, =2, =Y, U, &,
CCTV, st&4A 8) 9,000,000& * 123 108,000
Odot=E2 (84U 2)
950% * 500& *» 3L « 128 17,100
OSHRB(=F, =2, CCTV, Mo, g
SANE ) 100,000& » 20004 « 12& 24,000
OotEAIZEHl RAE=Hl
50,000,000 = 14l 50,000
Ox &=l 1,325& * 82IH * 240 2,544
203 YR =&l 1,000 1,000 0
03 AIMF=XH R =AH| 1,000 1,000 0
Ostae gR=2 1,000,000& 1,000
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SN ALDERS SGHEYHI
M UHL SMots etAE MAEGHA
el MAT OIS WRE GHE KB (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 16,920 22,520 A5,600
01 M= 4l 16,920 22,520 A5,600
ORAF &M HASZ (X, LM, &
=88) 70,000& * 1302 + 128 10,920
OctEAEE 22EE(HIES, =H)
500,000& = 123 6,000
401 Al HI K 201 I 1,601,359 1,363,572 237,787
01 A& HI 1,595,686 1,350,736 244,950
SHE BRI MG (RHED ~ FEW(FO)
) 3853 * 140,000m = 33| 161,700
OR4AE E2I| MY (RAFW~HIW(ROH))
385& = 70,000m = 33| 80,850
OR4AE E2I| M (HEW ~ D2W(F0H))
385& * 120,000m = 33| 138,600
OR4E ZE2)| M (FEW~ 120 (22))
385& = 60,000m" = 33| 69,300
ORYH NOZY TV L MMZ B2
4003 = 70,000m" = 33| 84,000
ORY T Moo ==HAHAS
6,000& = 20,000= 120,000
OR4d 2 Rollal= HMA
500& = 150,000m" =« 23| 150,000
OXgste 2ch RolalS MA
500& * 220,000m = 23] 220,000
Oxctd e RolalE MA
500& = 140,000m" = 23] 140,000
ORAME AEHY ¥ RANEX(NYZE, WO
2, d2te F) 100,000, 000& 100,000
OR4d HEEZE X4
28,000,000& * 1JH 4 28,000
OXgsotd KX el 2=l
10,000,000& * 370 £ 30,000
Odtd HIIAE=2 E=H 10,000,000& = 14! 10,000
ORadE SF2A2IAMG (HEA L ot Hi,
ANdgs 22l) 220,000,000& * 14 220,000
ORaE LSAE FX2e
44 1323 = 1038 » 12& 5,296
Oti=2 Al |Xli2c|
54,1003 = 200H2 * 68 6,492
OSHAE RX2c
53,000& = 18004 = 128 11,448
O=sgllsdH~12w AMZ IS AXISA
& Al & A HI 20,000, 000& 20,000
03 Al S THHI 5,673 12,836 AT,163
A& S 1,575,686,000& * 0.36% 5,673
403 XIS E X201 & 170,000 170,000 0
02 SO 2SO HSHAHE X CH e At H 170,000 170,000 0
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SN ASDEST YD
M UHL SMots etAE MAEGHA
el AT S HRE A RX B (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Obi==Z 2AE2teltl (40 a)
170,000,000& * 14 170,000
ot&E Gt M eIl & atArY 107,143 107,143 0
= 75,000
Al 32,143
401 Al HI K 201 I 107,143 107,143 0
= 75,000
Al 32,143
01 A& HI 106,372 106,372 0
Oot&at7 Med] ZatArd 106,372,000& 106,372
= 74,460
Al 31,912
03 AIE =TI 771 771 0
Oot&Eot= Maldl HatAY ARt
771,000& 771
= 540
Al 231
=2IIotd S 2el At 33,670 51,480 A 17,810
201 LBt 33,670 51,480 A 17,810
02 2324l 33,670 51,480 A 17,810
O0z3E2= & HA 33,600
Oti+=2 S43d AZZ
50,000& = 3502 + 128 21,000
Oti+=& &8JIR23
30,000& = 35004 « 123 12,600
OotdEZAl 0IEX EE= 70,000& = 1CH 70
=8 FUAY 500,690 532,798 A 32,108
401 Al HI K 201 I 187,853 186,727 1,126
01 A& HI 187,853 186,727 1,126
OY=HRA == AL (304H)
187,853, 000& 187,853
402 QI2H X201 M 312,837 346,071 N 33,234
01 It AL E X 312,837 346,071 N 33,234
O HE7Y(229H) 225,000, 000& 225,000
OZsJIH 7L (#E22) 20,420,000 20,420
oltses OAAIAHN & B2E i JIA
A (8&E32) 20,420,000 20,420
OM&I Fe 2 CCTVAXI(atA12l)
20,000,000& 20,000
gdl, ooz 2 &L CCTVAXI (= 4k32l)
26,997,000 26,997
Dsd, R4 3224 J=2H8 89 200,000 0 200,000
401 AIEHI L 2 CHYI 200,000 0 200,000
01 A& HI 200,000 0 200,000
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2N

ALEDNE=2E ol
HH: KOl BNGE OEE M
Shel: AAB SIS RS @ KA e CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Ollsd 24d A4z 248 J=HE B89
200,000,000& 200,000
IEE 2SS /s RANEF 23 ALY 21,000 0 21,000
401 AIEHIZL 201 Y| 21,000 0 21,000
01 Al&H| 21,000 0 21,000
OIIEA SN2 22AE EXZ2AF &AIEAH
=29 21,000,000 21,000
Mol 2 2H etMst oA A Y| 5,474,581 12,914,268 NT,439,687
= 1,934,000
o= 153,000
Al 3,387,581
SLEMFAE SA22 101,496 100,268 1,228
201 et 9| 56,496 56,796 A 300
01 AR 22l ] 2,496 2,250 246
OUSEXT SLHBAL HIlQdEB2IH &
>~ 298,000 * 6& 1,788
OMMX P SEMFAIE MM £
== 118,000 = 6& 708
02 2224 4| 54,000 54,546 AN 546
02322 % HA 24,000
O3 24,000
-AMNER2 4,000,000& = 6& 24,000
O A& &l XYl 30,000,000 30,000
401 Al HI L £ 0HHI 45,000 43 472 1,528
01 Al&EH| 45,000 43 472 1,528
SLENFAIE 22 15,000,000& = 3JH A&~ 45,000
XN eotd S A2 AL 123,000 123,000 0]
o= 123,000
401 A& HI L E0HHI 123,000 123,000 0
= 123,000
01 Al&H| 123,000 123,000 0
OX ot SA 22 ALY 123,000,000 123,000
= 123,000
Mol /e X =AUl ALY 200,000 0 200,000
= 100,000
= 30,000
Al 70,000
401 AlEHIZL 2 0HY| 200,000 0 200,000
= 100,000
== 30,000
Al 70,000
01 Al&H| 198,600 0 198,600




2A: A
X
el TH

SN SHEYWD
oI BMots orFE MGHA
HEZHE oHEE 5 &I

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAEX T oA AIE ZHAS
198,600, 000& 198,600
= 99,300
< 29,790
Al 69,510
03 A& 2 THHI 1,400 0 1,400
OAEX T MaHASEAIE ZHAS AIER0UH|
1,400,000 1,400
= 700
< 210
Al 490
EoAotd HHIAY 1,140,000 1,160,000 A20,000
= 570,000
Al 570,000
401 Al HIZ 201 Y| 1,140,000 1,160,000 A20,000
= 570,000
Al 570,000
01 A& HI 1,136,000 1,155,840 A 19,840
OEdH AGHE FUHAY 1,136,000, 000& 1,136,000
= 568,000
Al 568,000
03 Al S THHI 4,000 4,160 A 160
OEH Adtd HUIALY A&
4,000,000& 4,000
= 2,000
Al 2,000
LH=A0HE HHIAY 1,000,000 1,160,000 A 160,000
= 500,000
Al 500,000
401 AIEHI L 2 CHYI 1,000,000 1,160,000 A 160,000
= 500,000
Al 500,000
01 A& HI 994,000 1,155,840 A 161,840
OW= Aotd HHIAEY 994,000,000 994,000
= 497,000
Al 497,000
03 AlE 2 THHI 6,000 4,160 1,840
OW= Actd HHIAY AIE20HI
6,000,000& 6,000
= 3,000
Al 3,000
- A0tE FHAY 1,050,000 510,000 540,000
= 525,000
Al 525,000
401 Al HI K 201 I 1,050,000 510,000 540,000
= 525,000
Al 525,000
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SN ALDERS SGHEYHI
M UHL SMots etAE MAEGHA
&2 Mo2RH ¢tdE otA HH| (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 1,046,400 506,800 539,600
O+ A0HA HHAY 1,046,400, 000& 1,046,400
= 523,200
Al 523,200
03 Al S THHI 3,600 3,200 400
O7Y ActE HUIALY A& R2CHY]
3,600,000 3,600
= 1,800
Al 1,800
TS A0 FHIAY 328,000 792,000 A 464,000
= 164,000
Al 164,000
401 AIEHI L 2] 328,000 792,000 A 464,000
= 164,000
Al 164,000
01 A& HI 326,000 787,000 A 461,000
E&¥= ActE ZHAY 326,000, 000& 326,000
= 163,000
Al 163,000
03 A& 2 THHI 2,000 5,000 A 3,000
OE&H= Actd FHIAMY AIZRUH
2,000,000& 2,000
= 1,000
Al 1,000
AHOF AGHE FHIAY 150,000 0 150,000
= 75,000
Al 75,000
T AIEHI &R 150,000 0 150,000
= 75,000
Al 75,000
01 A& HI 149,000 0 149,000
O4ter AGHA HHIALY 149,000, 000& 149,000
= 74,500
Al 74,500
03 AlZ S THHI 1,000 0 1,000
o4&t AGHE HUIAY A& SR2CHY]
1,000, 000& 1,000
= 500
Al 500
A0t FH ZEHE (S, HAA) 1,013,450 0 1,013,450
401 Al HIZ 201 8] 1,013,450 0 1,013,450
01 A& HI 1,013,450 0 1,013,450
OAGHEEH SEHESE L NEZHIDA(S
HIH) 1,013,450, 000& 1,013,450
A0t EH ZEAHNESE(SNA) 338,635 0 338,635
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ALEDNE=2E ol
AN SHotes ot MAHAGHA
Mol 2 2E otM st oA A (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL 2 0HY| 338,635 0 338,635
01 Al&H| 338,635 0 338,635
OActdA™H =g SEHIOA 2
A (sXY9) 338,635,000 338,635
2UAY T 02X 30,000 0 30,000
401 Al EHI L 204 HI 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OAolA Dl==2X 30,000,000 30,000
A XHHO0] 2&0les M 9,156,231 5,827,000 3,329,231
= 2,380,000
Xl 2,939,400
S 1,000,000
& 1,063,880
Al 1,772,951
2d MEISIE S ALY 1,165,564 502,000 663,564
Xl 705,000
o=t 141,000
Al 319,564
401 AlEHI 2 2 0HY| 1,165,564 502,000 663,564
Xl 705,000
= 141,000
Al 319,564
01 Al&H| 1,158,264 498,386 659,878
oOg=2d MEjotA 1,158,264 ,000& 1,158,264
Xl 700,600
o= 140,120
Al 317,544
03 A& E2HH] 7,300 3,614 3,686
O2=2d MESIE =E)A S 2]
7,300,000& 7,300
Xl 4,400
= 880
Al 2,020
AF NSOl 2 HH|AL 3,966,667 1,500,000 2,466,667
= 2,380,000
o= 476,000
Al 1,110,667
401 Al HI L 2 0HHI 3,966,667 1,500,000 2,466,667
= 2,380,000
o=} 476,000
Al 1,110,667
01 Al&H| 3,727,107 1,413,180 2,313,927
S2AA DSl 2 |AFSE 3,727,107,000& 3,727,107
=2 2,236,264
== 447 252
Al 1,043,591
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SN FH-SA(EN) - MBAY - BES

Off &t 24
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i
2m

02

0y
o
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©
10
0z
(Pl
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0
10
0

03 Al S THHI
=

@_\?_ IE k=1

t=1

2 FHIAE

10
9]

2 FHIAE AL R0
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229,560,000&

= M W

10,000, 000&

= MW

229,560
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137,736
27,548
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2,234,400
1,000,000
446,880
42,720

3,825,000

A 101,000

401 AIEHIZ 2 THYI

= Mo =

3,724,000
2,234,400
1,000,000
446,880
42,720

3,825,000

A 101,000

01 A& HI

OEBSd MEiotd

03 Al2 2 THHI

OSFH MEHGHE

SJAANE

3,714,000,000&

= an =

SJAMY AR
10,000,000&

Xl

H

Al

3,714,000
3,714,000

2,228,400
1,000,000
445,680
39,920

10,000

10,000
6,000
1,200
2,800

3,743,528
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0

Al

ol
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300,000

300,000

401 AIEHIZ 2 I

300,000

300,000

01 Al&HI
OMEHotA

Jon

300,000,000&

300,000
300,000

300,000
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35,260

33,388

1,872

35,260
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1,872

35,260

33,388
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15,060
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02y

S

H2NsS=F ot
gl (A8ns=
=3l

Sl
Qli
[l
0L
=

M- B8-S (3H) - HRAY - BES il &t o il
O=ZHI(J1E&HI) 7,560,000& 7,560
202 oddl 16,200 15,120 ,080
01 = LH 4 1l 16,200 15,120 ,080
OJI&Z& 16,200, 000& 16,200
203 YR =&l 3,000 2,100 900
04 ENSSHRF=EHI 3,000 2,100 900
©J| & H (1521 013t) 3,000,000& 3,000
405 TtobFH SHI 1,000 2,000 ,000
01 AL EZFH S 1,000 2,000 ,000
OZ MMt 1,000,000 = 1CH 1,000
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